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1. Explain the following terms with suitable

examples: F-centres

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LtglYmRrlDWl

2. Explain the following terms with the help of

examples.(ii) Event

o Watch Video Solution

3. Explain the following terms with the help of

examples.(iii) Equally likely events

o Watch Video Solution



https://dl.doubtnut.com/l/_LtglYmRrlDWl
https://dl.doubtnut.com/l/_WkLJ4Fcw7nph
https://dl.doubtnut.com/l/_noPIEM3qfC17

4. Explain the following terms with the help of

examples.(iv) Simple event

° Watch Video Solution

5. Explain the following terms with the help of

examples.(v) Compound event

o Watch Video Solution



https://dl.doubtnut.com/l/_5Djnv8VX9Jd9
https://dl.doubtnut.com/l/_zCOTfY26zBEl

6. What is understood by the mathematical
probability of an event E?. Give one example

each of the following :(i) Sure event

o Watch Video Solution

7. What is understood by the mathematical
probability of an event E?. Give one example

each off the following :(ii) Impossible event

o Watch Video Solution



https://dl.doubtnut.com/l/_Xc3DgEOt2MZr
https://dl.doubtnut.com/l/_e6iq1e1RiJqt
https://dl.doubtnut.com/l/_73PTuKPFgXx9

8. What is understood by the mathematical
probability of an event E?. Give one example
each off the following :(iii) Complementary

event

° Watch Video Solution

9. Fill in the blanks :(i)For any event E, the

value of P(E) is __ than1and _ than O.

o Watch Video Solution



https://dl.doubtnut.com/l/_73PTuKPFgXx9
https://dl.doubtnut.com/l/_GljEs09XkpEn
https://dl.doubtnut.com/l/_Jf7CtgxksNdo

10. Fill in the blanks :(ii)For any event Ethe

value of the complementary eventFE is__

° Watch Video Solution

1. Fill in the blanks :(iii)If
Wi, Wy, Wy, ..... W,are all the equally likely

and simple events of any trial, then

o Watch Video Solution



https://dl.doubtnut.com/l/_Jf7CtgxksNdo
https://dl.doubtnut.com/l/_esujX0uK6liq

12. Mention the reasons for the following
events being or not being equally likély to
occur.(a).One red, one blue and one green
marbles are in a bag.One marble is drawn out
randomly from the bag.(i) the events of the

marble being red

o Watch Video Solution

13. Mention the reasons for the following

events being or not being equally likély to


https://dl.doubtnut.com/l/_bei3dneTe30W
https://dl.doubtnut.com/l/_GHA7shbDQfjv

occur.(a).One red, one blue and one green
marbles are in a bag.One marble is drawn out
randomly from the bag.(ii)the event of the

marble being green

o Watch Video Solution

14. Mention the reasons for the following
events being or not being equally likély to
occur.(a).One red, one blue and one green

marbles are in a bag.One marble is drawn out


https://dl.doubtnut.com/l/_GHA7shbDQfjv
https://dl.doubtnut.com/l/_Ak1u1Ue2JI2y

randomly from the bag.(iii)the event of the

marble being blue

° Watch Video Solution

15. Mention the reasons for the following
events being or not being equally likély to
occur.(b)There are 5 red marbles, 2 blue
marbles and 2 green marbles in a bag.A
marble is drawn out randomly from the bag.

The events of the marble beings  (i)red

° Watch Video Solution



https://dl.doubtnut.com/l/_Ak1u1Ue2JI2y
https://dl.doubtnut.com/l/_JvSYwMll268P

16. Mention the reasons for the following
events being or not being equally likély to
occur.(b)There are 5 red marbles, 2 blue
marbles and 2 green marbles in a bag.A
marble is drawn out randomly from the bag.

The events of the marble beings _ (ii)blue

o Watch Video Solution

17. Mention the reasons for the following

events being or not being equally likély to


https://dl.doubtnut.com/l/_JvSYwMll268P
https://dl.doubtnut.com/l/_9bizkkplAsbl
https://dl.doubtnut.com/l/_K9hZRmtkAIuv

occur.(b)There are 5 red marbles, 2 blue
marbles and 2 green marbles in a bag.A
marble is drawn out randomly from the bag.

The events of the marble beings _ (iii) green

o Watch Video Solution

18. Out of the six faces of a die, three are
marked with the number 2two are marked
with the number 1 and one is marked with the

number 3.The die is tossed once. Find in how


https://dl.doubtnut.com/l/_K9hZRmtkAIuv
https://dl.doubtnut.com/l/_qg4wUkmofKnq

many ways the following events may occur : (i)

the event of getting the number 1

° Watch Video Solution

19. Out of the six faces of a die, three are
marked with the number 2two are marked
with the number 1 and one is marked with the
number 3.The die is tossed once. Find in how
many ways the following events may occur :(ii)

the event of getting the number 2

° Watch Video Solution



https://dl.doubtnut.com/l/_qg4wUkmofKnq
https://dl.doubtnut.com/l/_Rcesvtc9XM2p

20. Out of the six faces of a die, three are
marked with the number 2two are marked
with the number 1 and one is marked with the
number 3.The die is tossed once. Find in how
many ways the following events may occur :(iii)

the event of getting the number 3

o Watch Video Solution

21. Out of the six faces of a die, three are

marked with the number 2two are marked


https://dl.doubtnut.com/l/_Rcesvtc9XM2p
https://dl.doubtnut.com/l/_jiV976oT4yk2
https://dl.doubtnut.com/l/_vpSvnIMBwBUs

with the number 1 and one is marked with the
number 3.The die is tossed once. Find in how
many ways the following events may occur :

(iv)the event of getting an even number

o Watch Video Solution

22. Out of the six faces of a die, three are
marked with the number 2two are marked
with the number 1 and one is marked with the

number 3.The die is tossed once. Find in how


https://dl.doubtnut.com/l/_vpSvnIMBwBUs
https://dl.doubtnut.com/l/_lZO4WuojGZpD

many ways the following events may occur :(v)

the event of getting an odd number

° Watch Video Solution

23. Which of the following numbers indicate

mathematical probability?(i)4/3

o Watch Video Solution

24. Which of the following numbers indicate

mathematical probability?(ii)3/4


https://dl.doubtnut.com/l/_lZO4WuojGZpD
https://dl.doubtnut.com/l/_wFlcCxmIygJ9
https://dl.doubtnut.com/l/_s4JcjnmBgbJm

° Watch Video Solution

25. Which of the following numbers indicate

mathematical probability?(iii)-0.5

o Watch Video Solution

26. Which of the following numbers indicate

mathematical probability?(iv).3333...

° Watch Video Solution



https://dl.doubtnut.com/l/_s4JcjnmBgbJm
https://dl.doubtnut.com/l/_pLmyNN5Sgzxj
https://dl.doubtnut.com/l/_epbTYBxtvfZp
https://dl.doubtnut.com/l/_PZelYgKeLsBw

27. Which of the following numbers indicate

mathematical probability?(v)\/i

o Watch Video Solution

28. Which of the following numbers indicate

mathematical probability?(vi)1.237

° Watch Video Solution



https://dl.doubtnut.com/l/_PZelYgKeLsBw
https://dl.doubtnut.com/l/_1l34SSdF7Xmv

29. Which of the following numbers indicate
mathematical probability?

(vii)0.12121222122221......

o Watch Video Solution

30. If for any event E,P(E)=0.01then find the

value P(E’) when(E) means "an event of not

happening E"

o Watch Video Solution



https://dl.doubtnut.com/l/_EcbHVeyGm7UZ
https://dl.doubtnut.com/l/_xCMuwtLgez8r
https://dl.doubtnut.com/l/_P3ZcK8MVdu5F

31. There are ball pens with only blue refills in
a packet.What are the probabilities of (i)an

event of the pen being blue refilled

o Watch Video Solution

32. There are ball pens with only blue refills in
a packet.What are the probabilities of (ii) an

event of the pen being red refilled

o Watch Video Solution



https://dl.doubtnut.com/l/_P3ZcK8MVdu5F
https://dl.doubtnut.com/l/_BUnvnDDseSLb
https://dl.doubtnut.com/l/_tQXf7ovGXkBg

33. Out of 65 students of class X, 40 are boys
and 25 are girls.The class teacher wrote the
serial numbers of all the students on separate
cards and kept in a box in order to select a
captain of the class. Then one of the cards is
randomly taken out from the box. Find the
probabilities of the class-captain being (i) a

boy

o Watch Video Solution



https://dl.doubtnut.com/l/_tQXf7ovGXkBg

34. Out of 65 students of class X, 40 are boys
and 25 are girls.The class teacher wrote the
serial numbers of all the students or separate
cards and kept in a box in order to select a
captain of the class. Then one of the cards is
randomly taken out from the box. Find the

probabilities of the class-captain being (ii) a

girl.

o Watch Video Solution



https://dl.doubtnut.com/l/_vbgb8F6ka3U8

35. Out of the 12 marbles kept in a pocket of
Trilochan/4 are red, 6 are white and 2 are
green. At the time of playing,he took out one
marble randomly from his pocket. Find the

probabilities of the marble (i) of being red

o Watch Video Solution

36. Out of the 12 marbles kept in a pocket of
Trilochan/4 are red, 6 are white and 2 are

green. At the time of playing,he took out one


https://dl.doubtnut.com/l/_IqjWnIV4QqVS
https://dl.doubtnut.com/l/_W4cYR5pPl103

marble randomly from his pocket. Find the

probabilities of the marble(ii)of being white

° Watch Video Solution

37. Out of the 12 marbles kept in a pocket of
Trilochan4 are red, 6 are white and 2 are
green. At the time of playing,he took out one
marble randomly from his pocket. Find the
probabilities of the marble(iii)of not being

green.

° Watch Video Solution



https://dl.doubtnut.com/l/_W4cYR5pPl103
https://dl.doubtnut.com/l/_6HKiLiX1ICh7

38. In a pond there are 40 Rau fishes, 25
Bhakua fishes and 20 Chital fishes. Before
taking bath Paniram tried a throw of his
fishing net in the pond. If one fish was caught
in the net in one throw and there are equal
possibilities of each fish being caught in the
net, then find the probabilities of the fish

caught(i) being a Rau fish

o Watch Video Solution



https://dl.doubtnut.com/l/_6HKiLiX1ICh7
https://dl.doubtnut.com/l/_PZi0CVaJr1YU

39. In a pond there are 40 Rau fishes, 25
Bhakua fishes and 20 Chital fishes. Before
taking bath Paniram tried a throw of his
fishing net in the pond. If one fish was caught
in the net in one throw and there are equal
possibilities of each fish being caught in the
net, then find the probabilities of the fish

caught(ii) being a Bhakua fish

o Watch Video Solution



https://dl.doubtnut.com/l/_mTIupBcz3Fbi

40. In a pond there are 40 Rau fishes, 25
Bhakua fishes and 20 Chital fishes. Before
taking bath Paniram tried a throw of his
fishing net in the pond. If one fish was caught
in the net in one throw and there are equal
possibilities of each fish being caught in the
net, then find the probabilities of the fish

caught(iii)being a Chital fish

o Watch Video Solution



https://dl.doubtnut.com/l/_OufqjZv6HTSR

41. Three coins are tossed together. Write
down all the probable outcomes of the
trial. Also find the probabilities of the events of

getting (i)3-Heads

o Watch Video Solution

42. Three coins are tossed together. Write
down all the probable outcomes of the
trial.Also find the probabilities of the events of

getting(ii)2 Heads

| & I


https://dl.doubtnut.com/l/_UFqBtrAc52f9
https://dl.doubtnut.com/l/_BayOLJWV5fwU

| ¥ Watch Video Solution |

43. Three coins are tossed together. Write
down all the probable outcomes of the
trial. Also find the probabilities of the events of

getting(iii)at least 2 Heads

o Watch Video Solution

44, Three coins are tossed together. Write

down all the probable outcomes of the


https://dl.doubtnut.com/l/_BayOLJWV5fwU
https://dl.doubtnut.com/l/_zib4FDbLXlTz
https://dl.doubtnut.com/l/_6k7aTLOl2GuV

trial.Also find the probabilities of the events of

getting(iv)a maximum of 2 Tails

° Watch Video Solution

45, Three coins are tossed together. Write
down all the probable outcomes of the
trial. Also find the probabilities of the events of

getting(v)a maximum of 3 Tails

o Watch Video Solution



https://dl.doubtnut.com/l/_6k7aTLOl2GuV
https://dl.doubtnut.com/l/_iLu2JbrJPkB3

46. Identify all the probable simple events
obtained from the trial of tossing a coin two
times and find their probabilities. Also
describe one impossible event and one sure

event associated with the above trial.

o Watch Video Solution

47. The six faces of a die are marked with the
numbers 2,3,5,7,11 and 13 respectively. Mention

all the probable simple events obtained from a


https://dl.doubtnut.com/l/_59t0SfTsnEJC
https://dl.doubtnut.com/l/_PDUi0N67Cp8f

trial of tossing the die and find their
probabilities. Also find the probaliilities of the

events of (iii) getting a prime number

o Watch Video Solution

48. One playing card is drawn from a well-
shuffled pack of cards.Find the probabilities of

the events of the card being (i) a Spade

o Watch Video Solution



https://dl.doubtnut.com/l/_PDUi0N67Cp8f
https://dl.doubtnut.com/l/_2IuSl3k1ZYpL

49. One playing card is drawn from a well-
shuffled pack of cards.Find the probabilities of
the events of the card being(ii) a Spade or a

Heart

o Watch Video Solution

50. One playing card is drawn from a well-
shuffled pack of cards.Find the probabilities of

the events of the card being(iii) a king or a jack

o Watch Video Solution



https://dl.doubtnut.com/l/_UFzyFMtlilA9
https://dl.doubtnut.com/l/_msbPK75egI5t

51. One playing card is drawn from a well-
shuffled pack of cards.Find the probabilities of
the events of the card being(iv) the queen of

Diamonds or the queen of Clubs.

o Watch Video Solution

52. Out of some shirts brought for sale, 10
were found to be defective.lf the probability of

a randomly chosen shirt being not defective is


https://dl.doubtnut.com/l/_msbPK75egI5t
https://dl.doubtnut.com/l/_1cg39ssjRWZu
https://dl.doubtnut.com/l/_8RYqJibPpFjy

4/5then find the total number of shirts

brought for sale.

° Watch Video Solution

53. In a game of lottery arranged at a
Durgapuja fair, it is decided that one who gets
the same number by tossing a dice two times
will be the winner.To try his lot, Arun tosses
the dice two times continuously. Find the
probabilities of the events of his (i) being a

winner

| e |


https://dl.doubtnut.com/l/_8RYqJibPpFjy
https://dl.doubtnut.com/l/_mrMtuNLR7UBh

& Wwatch Video Solution I

54. In a game of lottery arranged at a
Durgapuja fair, it is decided that one who gets
the same number by tossing a dice two times
will be the winner.To try his lot, Arun tosses
the dice two times continuously. Find the
probabilities of the events of his(ii)not being a

winner

° Watch Video Solution



https://dl.doubtnut.com/l/_mrMtuNLR7UBh
https://dl.doubtnut.com/l/_dsx6rlrhtvHA

1. Probability of an event E + Probability of the

event 'not E'=

o Watch Video Solution

2. The probability of an event that cannot

happenis__ .Such an event is called _

° Watch Video Solution



https://dl.doubtnut.com/l/_bKh9sDk2xlpr
https://dl.doubtnut.com/l/_QAqcwPlShhLx
https://dl.doubtnut.com/l/_L1URaLqmxCMh

3. The probability of an event that is certain to

happenis .Such an eventis called .

o Watch Video Solution

4. The sum of the probabilities of all the

elementary events of an experiment is

° Watch Video Solution

5. The probability of an event is greater than

or equal to and less than or equal to


https://dl.doubtnut.com/l/_L1URaLqmxCMh
https://dl.doubtnut.com/l/_TNRI3OYS10HC
https://dl.doubtnut.com/l/_4LNOz2e8ZPgZ

° Watch Video Solution

6. Which of the following experiments have
equally likely outcomes? Explain(i) A driver
attempts to start a car. The car starts or does

not start.

o Watch Video Solution

7. Which of the following experiments have

equally likely outcomes? Explain.(ii) A player


https://dl.doubtnut.com/l/_4LNOz2e8ZPgZ
https://dl.doubtnut.com/l/_hBr3mQWsPbDT
https://dl.doubtnut.com/l/_O7zMCwDX9euI

attempts to shoot a basketball. She/he shoots

or misses the shot.

° Watch Video Solution

8. Which of the following experiments have
equally likely outcomes? Explain.(iii)A trial is
made to answer a true-false question. The

answer is right or wrong.

o Watch Video Solution



https://dl.doubtnut.com/l/_O7zMCwDX9euI
https://dl.doubtnut.com/l/_bLxBnMDnSzjq

9. Which of the following experiments have
equally likely outcomes? Explain.(iv)A baby is

born. It is a boy or a girl.

o Watch Video Solution

10. Why is tossing a coin considered to be a
fair way of deciding which team should get the

ball at the beginning of a football game?

o Watch Video Solution



https://dl.doubtnut.com/l/_oVWFbb9ZR6QS
https://dl.doubtnut.com/l/_fA4o47PXY1fB
https://dl.doubtnut.com/l/_bNMBC7u1GwjL

1. Which of the following cannot be the

probability of an event?

A2
3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bNMBC7u1GwjL

12. If P(E) =0.05, what is the probability of not

'E"?

° Watch Video Solution

13. A bag contains lemon flavoured candies
only. Malini takes out one candy without
looking into the bag. What is the probability
that she takes out (i) an orange flavoured

candy?

° Watch Video Solution



https://dl.doubtnut.com/l/_onSjR8EZ1m8F
https://dl.doubtnut.com/l/_HkVmzANXZVDS

14. A bag contains lemon flavoured candies
only. Malini takes out one candy without
looking into the bag. What is the probability

that she takes out(ii) a lemon flavoured-candy

o Watch Video Solution

15. 1t is given that in a group of 3 students, the
probability of 2 students not having the same
birthday is 0.992. What is the probability that

the 2 students have the same birthday?


https://dl.doubtnut.com/l/_HkVmzANXZVDS
https://dl.doubtnut.com/l/_0DLTymDuSX6R
https://dl.doubtnut.com/l/_3lmcza1s2awv

° Watch Video Solution

16. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random from the bag. What

is the probability that the ball drawn is (i) réd?

° Watch Video Solution

17. A bag contains 3 red balls and 5 black balls.

A ball is drawn at random from the bag. What


https://dl.doubtnut.com/l/_3lmcza1s2awv
https://dl.doubtnut.com/l/_TyvcoUlUD04S
https://dl.doubtnut.com/l/_CcBng8S9bG6C

is the probability that the ball drawn is(ii) not

red?

° Watch Video Solution

18. A box contains 5 red marbles, 8 white
marbles and 4 green marbles.One marble is
taken out of the box at random. What is the
probability that the marble taken out will be(i)

red

° Watch Video Solution



https://dl.doubtnut.com/l/_CcBng8S9bG6C
https://dl.doubtnut.com/l/_6lxKHNwYfaOO
https://dl.doubtnut.com/l/_Kgu3XfWNgGU2

19. A box contains 5 red marbles, 8 white
marbles and 4 green marbles.One marble is
taken out of the box at random. What is the
probability that the marble taken out will

be(ii)white?

o Watch Video Solution

20. A box contains 5 red marbles, 8 white
marbles and 4 green marbles.One marble is

taken out of the box at random. What is the


https://dl.doubtnut.com/l/_Kgu3XfWNgGU2
https://dl.doubtnut.com/l/_fOxbid4FB5k8

probability that the marble taken out will be

(iii) not green?

° Watch Video Solution

21. A piggy bank contains hundred 50p coins,
fifty Rs1 coins, twenty Rs2 coins and ten Rs
5coins. If is equallylikely that one of the coins
will fall out when the bank is turned upside
down, what is the.probability that the coin (i)

will be a 50 p coin?

° Watch Video Solution



https://dl.doubtnut.com/l/_fOxbid4FB5k8
https://dl.doubtnut.com/l/_d4Bn60FLIixr

22. A piggy bank contains hundred 50p coins,
fifty Rs1 coins, twenty Rs2 coins and ten Rs5
coins. If is equallylikely that one of the coins
will fall out when the bank is turned upside
down, what is the.probability that the

coin(ii)will not be a Rs 5 coin

o Watch Video Solution

23. Gopi buys a fish from a shop for his

aquarium. The shopheeper takes out one fish


https://dl.doubtnut.com/l/_d4Bn60FLIixr
https://dl.doubtnut.com/l/_CZUacE92zASP
https://dl.doubtnut.com/l/_QThQudOvv10H

at random from a tank containing 5 male fish
and 8 female fish (see Fig. 15.4). What is the
probability that the fish taken out is a male

fish?

o Watch Video Solution



https://dl.doubtnut.com/l/_QThQudOvv10H

24. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,3,4,5,6,78 , and these are
equally likely out comes. What is the
probability that it will point at

(1) 8?7

o Watch Video Solution

25. A game of chance consists of spinning an

arrow which comes to rest pointing at one of


https://dl.doubtnut.com/l/_WfqDpuGBsgJl
https://dl.doubtnut.com/l/_InBI3z4a0J9B

the numbers 1,2,3,4,5,6,7,8 (see Fig. 15.5), and
these are equally likely out comes. What is the

probability that it will point at

N
D%

(i) an odd number?

° Watch Video Solution



https://dl.doubtnut.com/l/_InBI3z4a0J9B

26. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,3,4,5,6,7,8 (see Fig. 15.5), and
these are equally likely out comes. What is the

probability that it will point at


https://dl.doubtnut.com/l/_959jDa69IWUA

NZ
Gy

(i) a number greater than 27

o Watch Video Solution

27. A game of chance consists of spinning an

arrow which comes to rest pointing at one of


https://dl.doubtnut.com/l/_959jDa69IWUA
https://dl.doubtnut.com/l/_foZCXupvuONE

the numbers 1,2,3,4,5,6,7,8 (see Fig. 15.5), and
these are equally likely out comes. What is the
probability that it will point at (iv) a number

less than 9?7

oNZY
Gy

° Watch Video Solution



https://dl.doubtnut.com/l/_foZCXupvuONE

28. A die is thrown once. Find the probability

of getting (i) a prime number,

° Watch Video Solution

29. A die is thrown once. Find the probability

of getting (ii) a number lying between 2 and 6,

o Watch Video Solution



https://dl.doubtnut.com/l/_0GPHX3mx7zMl
https://dl.doubtnut.com/l/_7yG42ZuXIAA9

30. A die is thrown once. Find the probability

of getting (iii) an odd number,

° Watch Video Solution

31. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting (i) a

king of red colour

° Watch Video Solution



https://dl.doubtnut.com/l/_yJBmJCrH0Jev
https://dl.doubtnut.com/l/_fHaCGNDNvULD

32.0ne card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting(ii) a

face card

o Watch Video Solution

33.One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting(iii)a

red face card

o Watch Video Solution



https://dl.doubtnut.com/l/_xuuGJKweiL5I
https://dl.doubtnut.com/l/_WnPQ0Ohgy8ds
https://dl.doubtnut.com/l/_rhXQ2RPpKfpU

34, One card is drawn from a well-shuffled deck
of 52 «cards. Find the probability of

getting(iv)thé jack of hearts

o Watch Video Solution

35. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting(v)a

spade

o Watch Video Solution



https://dl.doubtnut.com/l/_rhXQ2RPpKfpU
https://dl.doubtnut.com/l/_Lq0IFd6izLsu
https://dl.doubtnut.com/l/_evVMGf0ppQG2

36. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of

getting(vi)the queen of diamonds

o Watch Video Solution

37. Five cards— the ten,jack,queneking and
ace of diamonds,are well-shuffled with their
face downwards. One card is then picked up at
random.(i) What is the probability that the

card is the queen?

o Watch Video Solution



https://dl.doubtnut.com/l/_evVMGf0ppQG2
https://dl.doubtnut.com/l/_AQe2A3dWgmOo

38. Five cards— the ten,ack,queneking and
ace of diamonds,are well-shuffled with their
face downwards. One card is then picked up at
random.(ii)If the queen is drawn and put aside,
what is the probability that the second card

picked up is (a) an ace?

o Watch Video Solution

39. Five cards— the tenjackqueenking and

ace of diamonds,are well-shuffled with their


https://dl.doubtnut.com/l/_AQe2A3dWgmOo
https://dl.doubtnut.com/l/_xFZkeeLdUBJE
https://dl.doubtnut.com/l/_EodQacb2r1mi

face downwards. One card is then picked up at
random.(ii)If the queén is drawn and put aside,
what is the probability that the second card

picked up is(b) a queen?

o Watch Video Solution

40. 12 defective pens are accidentally mixed
with 132 good ones.lt is not possible to just
look at a pen and tell whether or not it is

defective. One pen is taken out at random


https://dl.doubtnut.com/l/_EodQacb2r1mi
https://dl.doubtnut.com/l/_HC2fw45vyTot

from this lot. Determine the probability that

the pen taken out is a good one.

° Watch Video Solution

41. A lot of 20 bulbs contain 4 defective ones.
One bulbs is drawn at random from the lot.
What is the probability that this bulb is

defective?

o Watch Video Solution



https://dl.doubtnut.com/l/_HC2fw45vyTot
https://dl.doubtnut.com/l/_ipnTjtCEVazQ

42. A lot of 20 bulbs contain 4 defective ones.
One bulbs is drawn at random from the
lot.Suppose the bulb drawn in (i) is not
defective and is not replaced. Now one bulb is
drawn at random from the rest. What is the

probability that this bulb is not defective?

o Watch Video Solution

43. A box contains 90 discs which are

numbered from 1 to 90. If one disc is drawn at


https://dl.doubtnut.com/l/_TalF1bf47cEo
https://dl.doubtnut.com/l/_pVhzuN429rVV

random from the box, find the probability that

it bears (i) a two-digit number

o Watch Video Solution

44, A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that

it bears (ii) a perfect square numbers

o Watch Video Solution



https://dl.doubtnut.com/l/_pVhzuN429rVV
https://dl.doubtnut.com/l/_YiCIl76LTKrI

45. A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that

it bears (iii) a number divisible by 5.

o Watch Video Solution

46. A child has a die whose six faces show the

letters as given below :

[a] [E] [c] [2] [E] [A]



https://dl.doubtnut.com/l/_NRivoDRgFqVm
https://dl.doubtnut.com/l/_777Zg5dAeNAW

The die is thrown once. What is the probability

of getting (i) A?

° Watch Video Solution

47. A child has a die whose six faces show the
letters as given below : The die is thrown once.

What is the probability of getting(ii) D?

[l [E] [E] [2] [E] [A]

o Watch Video Solution



https://dl.doubtnut.com/l/_777Zg5dAeNAW
https://dl.doubtnut.com/l/_1cJbp7fIIHJ2

48. Suppose you drop a die at random on the
rectangular region shown in Fig15.6.What is
the probability that it will land,inside the circle

with diameter 1 m?

3Im .

2m

o Watch Video Solution



https://dl.doubtnut.com/l/_ebHcvWNT1vmJ

49, A lot consists of 144 ball pens of which 20
are defective and the others are good. Nuri
will buy a pen if it is good but will not buy if it
is defective. The shopkeeper draws one pen at
random and gives it to her. What is the

prpbability that (i) She will buy it?

o Watch Video Solution

50. A lot consists of 144 ball pens of which 20

are defective and the others are good. Nuri


https://dl.doubtnut.com/l/_skgcJrEaMAa4
https://dl.doubtnut.com/l/_6TklmkbrefUd

will buy a pen if it is good but will not buy if it
is defective. The shopkeeper draws one pen at
random and gives it to her. What is the

prpbability that(ii) She will not buy it?

o Watch Video Solution

51. A game consists of tossing a one rupee
coin. 3 times and noting its outcome each
time. Hanif wins if all the tosses give the same

result i.e., three heads or three tails, and loses


https://dl.doubtnut.com/l/_6TklmkbrefUd
https://dl.doubtnut.com/l/_1mOwvaBnNDJx

otherwise. Calculate the probability that Hanif

will lose the game.

o Watch Video Solution

52. A die is throw twice. What is the probability

that (i) 5 will come up either time?

o Watch Video Solution

53. A die is throw twice. What is the probability

that (ii) 5 will come up at least once?


https://dl.doubtnut.com/l/_1mOwvaBnNDJx
https://dl.doubtnut.com/l/_1MuvizHtJ4wU
https://dl.doubtnut.com/l/_ALi8edKkNNnD

° Watch Video Solution

54. Which of the following arguments are
correct and which are not correct? Give
reasons for your answer (i) If two coins are
tossed simultaneously there are three
possible outcomes-two heads, two tails or one
of each. Thereforefor each of these

outcomes,the probability is 1/3.

° Watch Video Solution



https://dl.doubtnut.com/l/_ALi8edKkNNnD
https://dl.doubtnut.com/l/_JQ1pGv2EJMRh
https://dl.doubtnut.com/l/_6IxvEEGP622k

55. Which of the following arguments are
correct and which are not correct? Give
reasons for your answer(ii) If a die is thrown,
there are two possible outcome- an odd
number or an even number. Therefore, the

probability of getting an odd number is 1/2.

o Watch Video Solution

56. Two customers Shyam and Ekta are visiting
a particular shop in the same week (Tuesday to

Saturday). Each is equally llkely to visit the


https://dl.doubtnut.com/l/_6IxvEEGP622k
https://dl.doubtnut.com/l/_5XUjSZ7vWyL4

shop on any day as on another day. What is
the probability that both will visit the shop on

(1) the same day?

o Watch Video Solution

57. Two customers Shyam and Ekta are visiting
a particular shop in the same week (Tuesday to
Saturday). Each is equally llkely to visit the
shop on any day as on another day. What is
the probability that both will visit the shop

on(ii) consecutive days?

| e |


https://dl.doubtnut.com/l/_5XUjSZ7vWyL4
https://dl.doubtnut.com/l/_QLuxQTZH3SOI

& Watch Video Solution I

58. Two customers Shyam and Ekta are visiting
a particular shop in the same week (Tuesday to
Saturday). Each is equally llkely to visit the
shop on any day as on another day. What is
the probability that both will visit the shop

on(iii) different days?

° Watch Video Solution



https://dl.doubtnut.com/l/_QLuxQTZH3SOI
https://dl.doubtnut.com/l/_nCJNoYZvlgIW

59. A bag contains red balls and some blue
balls. If the probability of drawing a blue ball is
double that of a red ball, determine the

number of blue balls in the bag.

o Watch Video Solution

60. A box contains 12 balls out of which x are
black.If one ball is drawn at random from the
box,what is the probability that it will be a

black ball? If 6 more black balls are put the


https://dl.doubtnut.com/l/_GBcvrfOyzOdG
https://dl.doubtnut.com/l/_REAY6wSKlhVx

box,the probability of drawing a black ball is

now double of what it was before. find x.

° Watch Video Solution

61. A jar contains 24 marbles, some are green
and others are blue. If a marble is drawn at
random from the jar, the probability that it is
green is 2 /3. Find the number of blue balls in

the jar.

° Watch Video Solution



https://dl.doubtnut.com/l/_REAY6wSKlhVx
https://dl.doubtnut.com/l/_bYttS8wtzeNQ
https://dl.doubtnut.com/l/_oKrQQLnk5E11

62. A die is thrown once what is the probability

of getting a prime number?

o Watch Video Solution

63. A die is thrown once What is the

probability of getting an odd number?

° Watch Video Solution



https://dl.doubtnut.com/l/_oKrQQLnk5E11
https://dl.doubtnut.com/l/_TN8QAclSrxeQ

64. A die is thrown once. Find the probability

of getting (ii) a number lying between 2 and 6,

° Watch Video Solution

65. A die is thrown once. What is the
probability of getting a number greater than

4?

° Watch Video Solution



https://dl.doubtnut.com/l/_JnvKkHjlLw22
https://dl.doubtnut.com/l/_IHDSz25s982x

66. A one rupee coin was tossed for once only.

Find the probability of getting the head.

° Watch Video Solution

67. A bag contains 5 red, 8 green and 7 white
balls. One ball is drawn at random from the
bag. What is the probability of getting a white

ball or green ball?

o Watch Video Solution



https://dl.doubtnut.com/l/_CMjLAJAdMk2u
https://dl.doubtnut.com/l/_owcBn5lKQGCA
https://dl.doubtnut.com/l/_yfigZ25HUblq

68. From a well shuffied pack of cards a card is
drawn at random. Find the probability of a

getting a black queen.

o Watch Video Solution

69. If £ denote the complement or negation

of an event E, what is the value of

P(E) + P(E)

o Watch Video Solution



https://dl.doubtnut.com/l/_yfigZ25HUblq
https://dl.doubtnut.com/l/_ZQ2ujcAmJcL0
https://dl.doubtnut.com/l/_Hn8Ioi6BFDEQ

70. If P(E) =0.05, what is the probability of not

'E"?

o Watch Video Solution

71. Two coins are tossed simultaneously. Find

the probability of getting exactly one head.

o Watch Video Solution

72.The probability of a sure event is

o Watch Video Solution



https://dl.doubtnut.com/l/_Hn8Ioi6BFDEQ
https://dl.doubtnut.com/l/_gF219tj1gijq
https://dl.doubtnut.com/l/_r6tC7ThUxheD

73. The probability of an impossible event is

o Watch Video Solution

74. For any event E, the value of

complementary event E is

o Watch Video Solution



https://dl.doubtnut.com/l/_r6tC7ThUxheD
https://dl.doubtnut.com/l/_vCbmhpBn4Ts0
https://dl.doubtnut.com/l/_Sjd4Te5TIJue

75.For any event E the value of P(E). is __ then

1 and greater than O

° Watch Video Solution

76. Fill in the blanks :(iii)If
Wi, Wy, Wy, ..... W,are all the equally likely

and simple events of any trial, then

o Watch Video Solution



https://dl.doubtnut.com/l/_GGSS8gznB7E7
https://dl.doubtnut.com/l/_bA9HV4qREE3G
https://dl.doubtnut.com/l/_hlPCRkb3jocJ

77. In a threw of a die the probability of

getting 4 is

S|~ Wl wRk -

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hlPCRkb3jocJ

78. A die is thrown once. The probability of

getting a number less than 3 is

>

= o= W~ N

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_N4EDQndLGobV
https://dl.doubtnut.com/l/_kWItUKXUOMjg

79. Two coins are tossed simultaneously. The

probability of getting at most one head is—

>

= Wl R w |-

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kWItUKXUOMjg

80. The probability that a non-leap year has 53

sundays is

>

Nlo got gl 9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4ZsOR954dkLl
https://dl.doubtnut.com/l/_NkkGUs2ELD5i

81. The probability that a leap year has 52

Mondays is

>

N I RN § G BN | TGP §

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NkkGUs2ELD5i

82. A month is selected at random in a year.

The probability that it is March or October is

S| =

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9mQKYBCCldIK
https://dl.doubtnut.com/l/_epBLKpfjKhpc

8. Two dice are thrown together. The
probability of getting the same number on

both dice is

>

|5|,_ S| W= N

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_epBLKpfjKhpc
https://dl.doubtnut.com/l/_UIqao7YUB8uw

84. A number x is chosen at random from the
numbers -3,-2,-1,0,1,2,3 the probability that |x|<2

IS

>

Nt glw N 9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_UIqao7YUB8uw

85. In a lottery, there are 6 prizes and 24 blanks

then the probability of not getting a prize is

N
ol orw | w

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJv2Ah01E8FO
https://dl.doubtnut.com/l/_JhzAZayK4rjW

86. A number is selected from numbers 1 to 25.

The probability that it is prime is

>

S|t o~ Wl W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JhzAZayK4rjW

87. A number is selected from first 50 natural
numbers then the probability that it is a

multiple of 3or5is _

12
25
13
' 25
21
50
23

D. —
50

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GG09wDv1kcWm

88. Two friends were born in the year 2000.
The probability that they have the same

birthday is

1
365
365
183
1

366

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EaeOSex3NHmK

89. The probability of an event can not be

A.03

wW|

C.0.33

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ozrw2naH1HBQ

90. If the probability of winning a game is 0.4,
the probability of losing it is
A. 0.96

B.0.6

1

. 0.4

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OnOdJddetEIF
https://dl.doubtnut.com/l/_gPczd1N6KaOg

91. Which of the following is a probability of an

event

A. 145

B.-0.8

0

Y
| w W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gPczd1N6KaOg

